th-& T30l A /B = 60°, AB = 16cm, BC =
12cm, AE = 9cm ¥ ®j, DF 9] Zol&? (H,
AD,E,F & HH)

® 4V3em @ 5cm ® 5v2cm
(@)7cm ® 8+2cm

B ~

BF = BDo|B.2 ABFD = A4zt o|t},
o2 A




t}-& 133} Zo] AABC o] YA Yo Hel=
AL PQE 121, APBQ 9 Ed|2] Zo|E
Tstodzt (&, D, E, F, G = HHolt})

i
o
=

>
[> &HE: 12 cm

~&B

o} g,
BD =x 22 s}
11-x)+8-x)=7

x=06

. BD+BF =6+6=12(cm)

QG = QD, PG = PF 0|22 APBQ 9] £8¢] Zo]=BD+

BF




N2
30° <A <90° & uf, <sinA + 5) - /(sin30° —sinA)2 °] 3t

57

1
@ 2sinA @ 2 ©) §sinA

@n ® 0

~&B ~

1
sinA + 3 >0,sin30°—sinA <0 O] 22
1\2
(sinA + 5) — 4/ (sin 30° —sin A)?

1
=sinA + 3 + sin 30° — sin A




4.  cos(2x-30°) =

? & WEAIE ¢ o P BE Fohu? (,

0°<x<90°)

@0° (@)30° ® 45° @ 60° ® 90°

B )

3
cos(2x —30°) = ‘/7_ = c0s30° = cos(-30°)

2x-30°=30° 2x-30°=-30°
Sx=30°0°




AtZHd] o] EE H 11 sin 49° 4 tan 30° — cos 48° 9] g+ 5ol 2t.

Bu)
o

2t | AF@l(sin) | T AFCl(cos) | EtMIE (tan)
30° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0,7547 0.8693
42 0.6691 0,7431 0.9004

sin 49° = cos (90° — 49 °) = cos41°,
cos48° = sin (90° — 48°) = sin42°
(ZA]) = 0.7547 + 0.8098 — 0.6691 = 0.8954




6.

-3 293} o] diz|5o] dolrt 1 2l
AP oA OC = 0.59 & o, CD <] 2

o g Fotw?

D
11/
.
0 C
2%e ARl IRl | EHHE
53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1.43
56° 0.83 0.56 1.48
@ 0.57 @ 1.38 @ 0.59 @ 0.82 (@)0.81
oC O0OC —
cosx’°==—=—,0C =059 o|2&2
oD 1
x°=254°
sin54° = 2 _u 0.81 o]|B.&
-~ CD =0.81




BH = 180 X sin 60°

_150x 3

2
=90V3

CH = 180 X cos 60°
1
=180 X —

2
=90

B = (90 x/§)2 + 502
= V26800 = 20 V67




@D 40V11 @ 40V13
@ 4017 (@)40\@

® 40V15

~&B

BH = 200 X sin 60°

=200><‘/7g

=100V3
CH = 200 X cos 60°
1
= 0 —_
200 x 5
=100

. AB = (100\/5)2+2o2




